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1. Answer all the following questions. Write the question number and correct answer in your answer

baok. Do rough work, if necessary, in your answer book, 1x20=20
{a) The product of (a = &) and (5a + 35} 1s
(i) Sa° -3b° (ii) 542 +2ab-352
(iii) Sa° —2ab—3b° (iv) 5a2 —2ab+ 32
(b) The value of 106 x 106 - 94 x 94 js
(1) 1904 (i1) 1906
(iii) 2000 (iv) 2400




(¢} If the sum of four consecutive even numbers {5 |80, then the sum of next four consecutive
even numbers will be

(i) 196 (i) 204
(i) 212 (iv) 214

(dy If %Hﬂ =—4  then the value of x is

(i) 56 (i1} ~56
(i) 24 (iv) 24
{e) The sum of a number and its square is 182; the number will be
(i) 16 Gi) 13
(i} 28 (iv) 26
(f) The number of bottles, each of 250ml, will be filled by water of a jar of 5 litre is
(i) 10 (i) 15
(i1} 20 (iv) 25
{g) The fraction lies between % and % is
i % @ 3
i) 75 iv) T

{h) The base diameter and height of a cone and a cylinder are same; then the ratio of their

volume will be
iy 151 (ii) 1:2
(iii) 1:3 (iv) 2:3
(i) The average of natural numbers from 1 to 49 is
(i) 24 (ii) 25
(iii) 48 (iv) 49
(j) The place value of 9 in 0-06943 is

i 4
(i) 9 (i 15
(i) 755 ) Tooo
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() The missing number of the series 9, 11, 15, 23, 39, 7 is
(i) 7 (ily fd
ily is
{1} The best way 1o express the expenditure in different heads of a famity
(i} Bar dingram (i) Histograin
(i} Freguency Polygon {iv) Line chart

(m} The summative evaluation in mathematics is done for the learners 10
(i} know the weakness in miathematics,
(i1} know the development in mathematics,
{iil} promote 1o the next class.

(iv) know attitude towards mathematics,
(n} The ratio of citcumference to the diameter of a circle is
) m: 1 (i) 2m: 1
(iii) =:2 (ivi n: 4
(o) Mathematics is a
(i} logical subject {ii) abstract subject
{iii) applied subject {iv} all of these

{p)} The concept of *social constructivism’ is given by

(i) Brungr {ii) Piaget
(i) Vygorsky {iv) Dienes
(g) The aims of mathematics teaching is
(i) disciplinary (i) utilitarian
{111} recreational (iv) all of these

(r} Which one is not measures of dispersion?
(1) Quartile deviation (i) Mode
(i11) Mean deviation {iv) Standard deviation
(s) The sum of two numbers is '0"; then the sum of their cube is
{(iy O {ii) 1
(iii) 3 (iv) 2
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(1) 1secondisthe ________ thpart of 1 hour.
|
Wy = oy i
W 360 (V) 7ems
2. Answer amy fen gquestions (eoch within 25 words): 2% 10=20

() Give adefinition of Maihematics,

(B} Give an example of cognitive aim of mathematics teaching.

(e} Give an example of inductive thinking in mathematics learning.

(d) What is importance of measures of dispersion?

{e) What will be the change in mean and median of a distribution if each score is increased by 57
(f) How do you establish the relation between the sides of a triangle with the help of stick?

{g) What mathematical concept can be learnt from rainfall?

(h} What is the difference between measurement and evaluation?

(i) How do you show the product of a number and its reciprocal by drawing picture?
{j) Give the nature of mathematical language.

(k) Write two causes of misconception in mathematics,

{I) Mention two ways to increase interest in mathematics leaming,

3. Answer any fwo questions (each within 250 words): Tx2=14
{a) How is it possible 1o learn mathematics through recreational activities?

{b) In mathecmatics what are the principles of selection of teaching leaming materials? How do

you teach fraction with the help of teaching learning materials? 344=T7

{¢) What is constructivism? How could mathematical concepts be learnt by constructivist
approach? 2+5=7

4, Answer any one question (within 500 words): l6x1=16
(a) Discuss Bruner's contribution on teaching mathematics. 16

{b) What are the common weakness of the learners in learning Algebra? Construct a test to
identily those weaknesses. 6+10=16
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1. Read the passage given below and answer the following questions:
Let us have a brief look into the earlier life of Ramanujan, before his departure for England. He
was born at Erode in Tamil Nadu on December 22, 1887. He went to the Town High School at
Kumbakonam at the age of 10 and, in 1903, passed the Matriculation Examination creditably

enough to obtain a scholarship in the Government College, Kumbakonam. Even during the School
years, he took a deep interest in college mathematics. When he was 13, Ramanujan borrowed a

copy of Loney's Trigonometry from a student in the degree class of the Government College and
solved all the problems.

His pre-occupation with mathematics, and scant attention to other subjects, resulted in several
unsuccessful attempts at passing the then First Arts Examination of Madras University. In the

meantime, he got married and it became necessary for him to find a job. In 1912, at the age of 25,

he joined the Madras Port Trust as a elerk on a salary of Rs. 30 a month.

During all these years of stress, strain and semi-starvation, his interest and work in mathematics
never flagged, in fact, was procesding at an amazing pace, though all that he could consult were a
few outdated and second rate text books of Mathematics in local libraries. At the persisient request
of some friends, he corresponded with Prof. G. H. Hardy and that brings us back the story of the
discovery of Ramanujan by Hardy.

With the help of some Indian and Evuropean sympathizers ol Ramanujan, Hardy secured for him
initially a research scholarship at the Muodras University of Rs. 75 a month for a year. Later he was
invited to Cambridge where he joined Trinity College in Apnl, 1914, In Cambrdge, Ramanujan
did work of “profound and invincible originality™, For his remarkable contributions to Number
Theory, he was elecied Fellow of Trinity College on October 18, 1917, Next February, he was

elected to the Fellowship of the Royal Sociely of London,
Please Turn Over
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with statement.
1=10=10

ite the answer
A. Tick the correct nlternntive. Write only liem numbers, Do not wrile

(1) Creditably menns
{a} deplomble
(b} shockingly had in quality
(e} sufMiciently good 1o bring esteem or praisc

{d} reprehensible

(i) Bormow means
(o) abandon
(b} ioiake for one's own usc
(c) miveup
{d) throw away

(111} Pre-occupation means
{n) something about"which one is constantly thinking
(b} to ignore in a disrespectful manner
(c) to dislike strongly
(d) disdain

(iv) Scant means
{(a) less
(b) adequate
() excess
) tolerable

(v) Strain means
(a) excessive joy
(b} relax
(c) slacken

(d) excessive physical or mental tension

{vi) Starvation means
{a) suffering caused by having nothing to em
{b) sulfering coused by having plenty of lood
() thirst

(d) saturation




(3) D.ELEd -l English/CPS-02/225-I)

"' (vii) Flagged menns
{n) enhance
{b) strengthen
(e} 1o decline in interes
(d) to revive interest
(viil) Outdated means
(a) curremt
(b) modem
{(c) fashionable
(d) obsolete
(ix) Profound means
(a) having intellectual depth and insight
(b) lacking in depth of knowledge and thought
(e) shallow
(d) superficial
(x) Imvincible means
(a) vulnerable
(b) artificial
(c) unbeatable

{d) superior

B. Answer any five of the following questions each within 25 words, Do not cross word limat,

2x5=10

(i) What helped Ramanujan o obtain scholarship in the Govt. College, Kumbakonam?

(ii) Mention an incident which showed Ramanujan’s interest in Trigonometry at his early age.

(iii
(iv) Why was Ramanujan elected Fellow of Trinity College in 19177

)} How did Ramanujan perform in subjects other than Mathematics?

(v) How didl Ramanujon meet Prof, Hardy?

{vi) How was Ramanujan’s Combridge lile?
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2. Fill in the blanks. Do not write the answer with statement, Write only the eo e

(i) e called the four “language skills'.
(ii} TLM stands for

(iii) TEI stands for

(iv) Englishisn language for national and international communication.

(¥} Maother tongue is used in method.

(vi) National Education Commission (1964-66) is popularly knownas .
{vii) refers to any object we use in the classroom to bring the class to life.
{viii) Eclectic method is also known as

(ix) ELT stands for

{x) CALL stands for

3. Answer any five of the following questions each within 25 words, Do not cross word Limit. 2x5=10
(i) What do you mean by child-centric learning?
{1i) What is the role of Lesson Plan in a Language class?
(iii) What is the importanee of Wall Magazines in developing proficiency in communication?
{iv) What is Phonetics?
{-ﬂ What is the difference between language acquisition and language learning?

{vi) What is Co-operative Language Teaching?

4. Answer any two of the following questions each within 250 words, Do not cross word limit. 7x2=14

(i) Write a brief note on Language Integrated Teaching in multicultural and multilingual context
of West Bengal.

(ii) Discuss the aims and objectives of teaching English at the elementary level in West Bengal
as per the NCF, 2005.

(iii) Discuss two strategies that may be used to develop listening skills of elementary level students.

5. Answer any ene of the following questions within 500 words. Do not cross word limit.  16x1=16
(i) Prepare a lesson plan for any lesson of Class VIIL

(i) Prepare an Achievement Test (of 20 marks) on any topic of your choice from the prescribed
English Text book of Class ¥ and Clags VI,
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Candidates are directed to give their answers in their own words
as far as practicable.

{a) Botkin T
(i) HEfrmE)
(iii) =R

(b) s frm TafRref au efFgs W

(i) 1975 FEPTITe Tibilisi 00
(iii) 1977 TR Tibilisi F=FETH
(c) =M Jiere Y
(i) T S
(i) FREHTEA-TEENEE

(d) =S @ =
(1) (&%
(i) TE
(e) NCF-g7 a1 =ifst ¥
(i) Mational Core Framework

(iii) Mational Curriculum Framework

() e T FHFTD T o
(iy fa= ==
(i) faes o
(g) c@-+i6 (Al wmfee @
(i) =leram
{iii) T

1x20=20

(ii) TR
(iv) T

(i) 2010 FEF5TsE Tokyo FTTEAE
(iv) 1972 EHICwa Tokyo SR

(i) FTETEE -GS
(iv) Fasm

(i) =it
(iv) =fem

(i) Mattonal Curriculum Force
{iv) Natal Curriculum Framework

(il) *=Es =
(iv) IR &=

(i) =g
(iv) #fsx cafdsena
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(h) Mrersfis P wmw o
(i) T (i) 7T
(i) stifes {iv) SRR
(1) =B et wg =
(i) it (i) A=
(iii) "R (iv) =Erafibm
(i) e weme BRI e et T
(1) 4% = (i) ST e
(1ii) 37 =ms (iv)y 26 =i
%) w4t 9fe =
(i) s =i = (ii) TS TEE aE
(iii) Twn-s TR a1 wwm (iv) wrd-=ifen =l Inm o
() cotmredi e
(i) wP BT =0 (i} =M% srarss &9
(iii) TwF Sfares w5 (iv) Ta-sifeva smres 78
(m) TS dem 12 =
(1) == (i) @m
(iii) =iy (iv) =f5= vy
(n) *Population’ *r=fl «mms = ==
(i} Popular (s (1) Popul csrs
(ii) Populate cucs {iv) Populus c3e
(o) TR Fis
(i) ez T= (i) Ty e
(iii) Frgls Te (iv) s wmmr e
(p) =i fmfama fffeamme Bl FATEA
(i) 4 e (i) 5=
(iii} 2 =t (v} 3 =mes
(q) T TAme g apage o
(i) Fhrmz (i) ey
(iiiy FEr=TowE

(iv) THrwon
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(1) <{f&%7 =@ =2EA (Perihelion)-a7 =ifid 7

(i) 210% o9 {iiy 3m A
(i) 23 W16 (iv) 3% s
(s) eifETE =R sl oon o
(i) 1950 B0 (i) 1949 fasbms
(iii) 1952 b (iv) 1962 5=
(1) e wfies wiEn w6ke e anfeg @
(i) 2005 &=5w (i) 2009 f&5r=
(iii) 2007 fEpbnw (iv) 2012 95w

2. FmfEfe erofim au o e 75 e B §R (2fef wwiEe el e T 2 2x10=20
(a) cerg-ofbrE e Brry =)
(b) wefirmre 4G tafE FeE |
(c) #ETEFa STHTTE o Aied B T |
(d) =@ AElE T M1
(e) AETEH T AT
(f) e i 2 B =
(g) TFITCAR HG ST W =5 |
(h) FrowfEs Fre T 8 G
(i) N AT AEEAEE] e
() e fawra ufb S FYA |
(k) FiTTamm 1= T
(1) e ermm e i I

3, SmEle exofm g @ e 56 orm B e (o i el M ) ¢ Tx2=14

(1) A TN A5 s A ¢ G AR 2 FAGHE FAE FCRA T 24+5=7
(b) STl fol e e ferrears Boft Frdnslen ¢ e it 144=7
(c) | e wel ) ¢ e e Sl FYE S8 T T e =il e e e T

1+145=7
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[EncLisn Version]

1. Answer the following questions on the answer paper by selecting the right answer in each
1=20=20

Casg:;
{a) Botkin was

(i) Biologist (ii) Chemist

(iii) Environmentalist (iv) Physicist
on was first enlisted in
(ii} 2010 Tokyo assembly

(iv) 1972 Tokyo conference

(b) The charactenistics of Environmental Educati
(i) 1975 Tibilisi conference
(iii) 1977 Tibilisi conference
(¢c) The gas exists in Acid rain i5
(i) Carbon monoxide

(iii}) Nitrogen-dioxide

(i) Sulphur-dioxide
{iv) Methanc

(d) Water-bome disease
(i} Dengue
(iii) Pox

(ii) Malaria

(iv) Jaundice

(e) Full name of NCF is

(i) National Core Framework (ii) National Curriculum Force

(iii) National Curriculum Framework {iv) Natal Curriculum Framework

(f) The water in the river is generally called
(i) Stagnant waler {ii) Flowing water
{iii) Pure waler {iv) Saline water
(g) Chhau-dance is performed more in
(i) Purulia (i) Bankur

(iii) Jhargram

(iv) West Midnapore
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(h) Father of child-centric education is
{i) Roussean (ii) Rabindranath
(iii} Gandhiji (iv) Montessori
(1) Air Pressure is measured by
(i) Thermometer (ii) Barometer
(iii} Manometer {iv) Hygrometer

(i) Teaching Aids are classified generally into

(i) 4 parts (ii) 5 parts
(iii) 3 parts (iv) 2 parts
(k) Rainfall in rainy season of Bengal occurs due to
(i) Planetary wind {ii) Polar wind
(iii} MNorth-east monsoon wind {iv) South-west monsoon wind
(1) Godavari is
(i) South Indian river (i1} West Indian river
.{Hi} North Indian river (iv) North-west Indian river

{m) First shelter of man was
(i) Tree (i) Cave
{iii} Tent {1v) House made by mud

{n) The word "Population” comes from the Latin word

(i} Popular (ii) Popul
(iii) Populate {iv} Populus
(o) What is Cashmilan?
(i) Pure wool (ii) Special fruit
{iii} Synthetic wool {iv) Special type of Shawl
{(p) Modem educationisis have divided constructivism info
(i) 4 parts (ii) 5 parts
(1if)} 2 parts {iv) 3 parts
(g) Action Research was first used in
(i1 Agricultural Field (i} Industrial Field
(iii) Educational Field {iv) Baule Field

Please Turn Over



D.ELEd-IENVSICPS-04/22/(8-1) (6)
() The date of Perdhelion Position of Earth is

(i} 2151 September (i) 3rd June
(i1} 23rd March (iv) 3rd January
(5} The Report of Mudaliar Commission was placed in
(i) 1950 A.D, (i) 1949 A.D.
(i) 1952 A.D. (iv) 1962 A.D.
(1) The Right 1o Education Act was introduced from
(i) 2005 A.D. {ii) 2009 A.D.
(it} 2007 A.D. {iv) 2012 A.D.

4. Amnswer any ten from the following questions (Within 25 words cach):
(a) State the causes of tide and ebb.
{(b) Write two characteristics of Micro-teaching.
{c) Mention two principles of Curriculum Construction.
(d) What is Demonstration Method?
{e) What is Platcan?
(f) Write the names of two major elements of Blood.
(g} Name two tools of Evaluation,
(h) What is child-centric education?
(i) What is the need of balanced diet?
{(j} Write two objectives of Environmental Seience.
(k) What is the basic concept of Constructivism?

(1) What do you mean by ‘work' in science?

3. Answer any twe from the following questions (Within 250 words each):

2x10=20

Te2=14

(a) Whatdo you mean by Problem Solving Method? State the main steps of the method in brief,

{by On which subjects does Environmental Science depend? Give examples,

245=7

3+d=T

(c) What is the meaning of Tundra? Write the divisions of Tundrn and describe in details the

Flora and Pauna of this region,

I+1+5=T7



(7) D.ELEd.-I/ENVS/CPS-04/22/(8-I)

4. Answer :
any one from the fuli-:mnng questions (Within 500 words): 16x1=16
a) Select -
' 6+10=16
(b)) What

:]s h-.?em Method? Deseribe the steps of this method. Select one topic from ‘Paribesh-
an- tor class VIL State how this topic can be tught by the Project method.
2+6+8=16

o-Bij
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l:f}' HINDI — (L-1) TS :;:.1".‘,&:—,.;"5.‘:?'_3:
._.I 3L i ‘: AL JrJ:II-Ir-.|- [
Pﬂ]:'cr CD';I'E . {:FS'UJ = 5 r-.r-"'nl'Tl.F.-_--l' g
PUETHRIRS P T e
LIBh. RY
Time Allowed—3 Honrs T Full Marks—70

The figures in the margin indicate full marks.

Candidates are directed to give their answers in their own words
as far as practicable.

1. 74t v s § ) P vl & a3 an-an faeey (1), (i), (iii), (iv) f2u 70 8 1 =98 & odt semamen

T g sl 3en e 1 fifia 1%20=20
(a) FE A A T e T A 2
(i) st wEe (i) it
(iii) [ Fet {iv) wwEs efras
(b) “wmfty’ & wom
(i) = (i)
{iii) g {iv) fg
(c) Ha FeEME ¥ Ha §
(1) ot (i) TeEm
(i) HEM {iv) TAEREm
(d) g W yataa w6
(i) Y (ii) H™
(iii) famm {iv) T
(e) ¥4 =Y = IR §
(i) Tzh (i) Wl
{iif) THTEE {iv) a7 fme
(f) ‘s v T
(i) o = (i) =T T
{iid) =EEtE W (iv) v
(g) "8 $o A9 T FEerm &
(i) HE=mE (i) W
(iii} TEE= {iv) Tmm

22700
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(h) "HAER = S
(i) Tefem um & qun
i) Hﬂﬂ‘lﬂﬂfﬂm
wrs"ﬂmaﬁu
i)
(i) T=m

(i) fems =5 o i &
(i) Ty
(iii) =

() N1 = o s
(i) =
(iil} T T
(m) 7% 7= gfw ;
(1) ToER
(iii) et
(n) % w= g
(i) "R
(iii) ==
(o)« e F e i
(i} ﬁﬁm—ﬂqm
(i) Zr iy 2l gii
(p) HAWE ¥T84 H1 woaa a2
(1) e &
(iii) Ffam &
(q) "#9¥a" w2 gfg
(i) 7
(iii) =
{r) Immmlwmﬂﬂﬁ
(i) T T
(iii} Tty o

(2)

(i) i 4 5fg
(iv) Z=mm g oy

{ii) %
(iv) 581

(i) =y
(iv) =y

(i) et
(iv) frmenf

(i) 9 fagm
{iv) &g

{il) win
(Iv) EoTEy

(ii) Oy
(iv) e

(ii) Feremm-wg
(iv) 57 & 9 =

(i) Py
(iv) Ferl §

(i) 5=
(iv) =

(i) i &
(iv) TTam o)

———— e~
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(3)
(s) "HE| WA A’ — T W
(i) TR R (ii) FH FE
(i) HHE FH (iv) T FH
() Al = - free &
(i) A+ () A28
(it) e + W (iv) 7% + T

3. Fortfisfarn weelt 9 2 Pl 2w Wl % Ty frfan | e T sifusam 25 v A fafaE : 2x10=20

(a) FEiE % W =Y fofE )
(h) S T = Fm frfam
() ' = =W wiETE fafa
(d) WitE feran woy ffT = w wnE e i
(e) Tm & =61 1@ Fifag
i, s, i, s

() ST % S v et
(g) "wrEE " Il 8 T e i
(h) Fefed % SR TSI wied W & G S fefa
(i) "HE YR W W e § i armm §— vy T e
() Teim Fom Fifa
foramm, v, =, 9T

(k) T e & 25w fafan
(1) S o6 Weh & B #7 3 A fefia )
3. Trefefem wedl & & el & Wl & am fofiae ) woi oo st 250 7= 6 TAfmT . Tx2=14
(a) T Faveger O HErE fRem S % Svm F uee 9 fafa
(b) ‘g gEfa’ v €7 Smwn whm e =i
(c) v feror o faom Fag =1 IwEfm o v =

4. Frefafay uwel 8§ | R o o = 5o afassm s00 T=1 4 =i 16x1=16
(a) fret gfea wfam o ws we-drem dan Fifa |
(b) “HEMA T IEEH e gidE W - A i)
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t, E t DLELEd.-FChitd StudiesfCC-01 721
Two-Year DLELEA, Poart-1 Examination : 2019-2021

CHILD STUDIES
Puper Code : CC-01

Time Allmwed—3 Hones Fiall Marks— 7T

The figees fn the maegin ndicoase full maks,

Candidales ave divecied o give their answers in their owi words
ax for ax practioale.
Special credit will be griven for the anowers which
are fee K posint and precise.

1. Fekfie anaf o ws Do P 2 g Tenem fr o 1:20=20
(eresiel wta At ool cerereraea Srafire mesn 31 =G0 A2 e 0
(a) FFEEETEE e aE

(i) rFATE | (i) TTEA 48 W A O
(i) ews fa warae | {iv) AT AT |

(b o= Sifs s el e
(i) Froee DA g Wb o AR ofimn (i) e e A
(i) Frer =melfE o <o RafEm = (v e gders

(¢} AT AArEEes B anne o e Il SR =i ey
(i) el s (i) =el: =Ee
{iii) =876 =y (iv) Wl =W

{d) T8 coffrm ARt SlrEEE €8 T

i) fAemE {ii} F=IE |
(i) A = | {iv) BrB e WAE |
fe) AR A e
(i) FErEmisreE iy #farmism
i) = (iv) =T
(F) *A Study of the Larger Wil — *ﬁ#ﬁ (7% A6 T ¥
(i P = (i) wfad carpy
(iii) afrs afaem (1w} e [etutodd

21230 Mease Tarn Owver
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(g) oo =wasss way
(i w5 sfaedafy
(i) 2eErdafe

(h) iR fFuma s
(1) =i=ss
(it} ez
(i) Fn ol s Betwin me
(i} Prem
(i) e el

() Tl gfern wwrers == Tm
(i) e s |
(i) S 5 |
(k) T
(i) WS W i Bem
(iii) AR e =i S

{1y = TR gawm = gee
(i) w=EEs
iy = EFEem
(m) Faieen FTETm g Here e
(i) o=
fii) = T
in) Heargere foaeas s wall e

(i) P 4
(i) AT HaRbTars @ |

(o) Tampsprs o il Tuigae o
(b} *pget el |
TR ER T

(2)

(i) Famfarm sfardadm
fiv) crimiie o

(i) Tsgara
{iv) cTEEa

(i) *fTFrEe

(iv) Fgmeps

{in) g s
{iv) GEReneg wm

(i} eI gfEm sl Bemmn
{iv) CHTGE =m

(i) e
{iv) SEs0TE

(i} =
(ivy =it

(i) Farsrsliss AiEess wa
(iv) 8 Abiareta wa |

(il) ol |

L ol | LA
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{3}
(py carwlh st St e
(i) (ity =rmief
(iliy ARan fiv) G
(igh ST A WIER BT
iy Paara fiiy wufm
(i) weliEas (ivy B Temmst
ir} e Frw wwm 1T
ivy e e tiiy B
{iiiy TR (iv) o fermoes
(s} oA mary Townce e SORR «sfE Bonlis e
(i} e (i) =fEAr e
gy merEl o =i Een tiv) T e
(1) srAraTem Gl afEE Rt =
() EAEs i) it
Cini) CeRArT ) {iv) WIS
2. G o Fall s B o wfiell Tan wmeiiE 250 «em o Fees wa) T 10=20

tu) TR ax o e awfl s e

(b) 7% & Tatters wom wiB ey o=

fo) Bee o s i Wi Tl fem

td) Freionn seefe fifs 9 ) ool Tatwrers simon Fe@ i
fe) ZPD 2 o et wil alis Bomst e

i) HECIFR (vl aetne B canes v—yil Bupeme| Fe g

(g} Tosneaa sl wqabeia oo coien ofb Talein) Sees) wq)
ihy =fefetiend wa qib sl Fisp |

(i) %M & Atria s wlb ssf fosu

() T Bul Shapaiica SGCEm w31 Wil el nal i o & Fy
(k) raraalen a1 o csiotia ol Buoifne R

(1) Tresisn sewicen ylh talei T

Please T.r“ Over
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A @ @i g da T e BT B wamit, 250 wos s B AN

T=2=14
L) O3 O 21 3 5wt B | o mmiferr o HireFEs Frvres o o cnm Fe uaey
EoEH! =7

(h) =060 @ T =t il =m e i wrge Femil Tfaiy srommes sy e o

1+6=T
() Tesifie culrrrea vl T B | o wom et R fomf o w4437
tmmﬂm%’iﬂlﬁmﬁmﬂmmwmmmﬁmmu I6=1=16
{a) ﬁmﬁ@%ﬁﬂﬁ#ﬂaﬁﬁﬂﬂwmmanmﬂmm
& A T B+B=16
(b) ComETamefa Pafes ooy ~rdfaaf & & aﬁﬁﬂ*ﬁmﬁﬂﬁmhﬁmﬁ@1m
H‘Esﬁamwmmmr-nmmﬂwﬁml H944=16

L Esciisn YVersion|
L. Seclect comect answer from the following quesiions and weite in the answar book: 12020

Write only the

ilem number of your choice, Do nat copy the statement
development of an individua]'s Vife staris from
(i} mother's womh,
(1) environment sfter barth,
b)Y Which

(a) The

(i1} after 24 hours of hinh.

v} childhood siage.
1% ot the principle of development?

0 Development is physical, paychological or wholesome Process,
(1) Development is whsoluely innate,

i) Development is the oumeome of intersction between heridity and environmen,
(iv) Development is prediciable.

(] How many stages are there of peycho-social develo
(1 7 stages (i) # stapey
i) o siapes vy 10 stages
td) Fine muscle development is nog regquired pi
(1) Writing it} Walking
(i) Druwing

(v Holdng threag

W meedles
(e} Which is un obstraciion for socinliz

(1) Coopermion (i) Competition
{3ii) Jealousy Uiv) Immsitation

i



1 I
{5) n.ELEd Child .'j'I'H:ilr_gffL /2
—
writer of il hook—"A gyychy ol the Larger sind"?
(ifp W. James

(i) E Firikson
(g Ematignal sLle of a child i=
(i) Quickly changing
(iii} Never changing

il “Insighiful Learning’ has been proposed hy

i} Pavlow
iii) Thomdike
(i) Which is not the compone! of memory’?
(i) Leaming
(i) Asquiring experience
(i Working memory G alan be mentioned a5
(i) Immediaze Memory
(i) Long Term Memory
(k) Schema is
{i} the primary factor of IMaginaton.
{iiiy the primary factor of ¢ognition.
(13 Cognitive Cansiructivism is proposed by
(i) Thomdike
Gy . Piaget
{m) Social Constructivism is proposed by
{iy Thomdike
(isi) J. Piagel
fny The first stage in cognitive development is
(i) Pre-Operational stage
(i) Sensory-Maolor stege
(o) Owe example of ‘Functional My’ it
(i) Doll PMay
(i) Waner Play

vy 1 Piagel

ity Slowly changing

{iv) Mone af thest

(it} Skinner

{iv) Kohler

(i) Recall

{iv] Retention

{ii} Short Term hdemory
{iv) None of thzse

(ii) the pnmary faclor of memorization.

{iv) Mone ot these

(ii} Skmnner

{iv) Vygpoisky

(it} Skinner

(iv) Vygotsky

1111 Formol Operationol stage

{iv) Concrete Operational stage

{i) Drawing
{iv) Muatching Blocks

Please Turn Over
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ipy Which is not the eomponent of lanpuage?

3] Phomlogy () Sermantics
i) Syninx (i) Pronuncistion
Wy Languape Acquisition Theory is proposed by
(1} Skinner (i} Chomsky

(i) Thomdike {iv) I Pinget

(r} Social Learning Theory is proposed by
(1)} Carl Ropers

(i1} Skinncr
(i) Bundurn

(v} 1. Piaget

I8 encouraged in brain slorming?
(i} Convergem thinking

(5] Which 1ype of thinking

(it} Divergent thinking
(i1} Both Convergent and Diverpent thinking {iv) Problem oriented thinking
(1) One external determinant of allention is

{1) Emotion

{111} Contrast

(il Imteresg
(iv) Mentality

2. Answer any ten questions. Do not write more than 25 words for cach BNEWET. 2= | 0=20

(2) Write down any one definition of Constructivism,
(b} State two differences between growth and developrmeni,
(e} Wrnite down any lwo chamcleristics of Ego,

{d) Wrile down any one example 1o explain ‘Integrity” principle of development.

(e} Mention any two features of ZPD.

N} Give two examples of 'Associative Play’.
() Mention any two characteristics of operant conditioning as proposed by Skinner.
(h) Write down two significance of Socialization.

(i) State two differences between language and speech,

(i} What are the cstegories of *Auention’ s per individual volition? Name them,

(k) Mention vwo merits of Parallel Play,

(1) Write two characteristics of children's emotion.



(7) I ELEd.-[Child Studies/CC-007/21
A Answer ey fwo questions. Each answer must be written in not more than 250 words. TuZ=14

(a1 Write down any one definition of ‘Play’. State any three impacts of play in social and
emotional development of children, I+6=7

(b} Who has oflered the “Trial and Error theory of Learning'? Mention any two significance of

this theory. [ +6=T

{c} Write down lour features of multilingual classroom. Mention any three importance of teacher

n such classroom. 3+3=T7

4. Answer griy ane question. YOour answer must not cross 500 words. [ l=]6

{a) Write down any four causes of separation of parents from children? Discuss its any four
implications in socialization process. B+f=16

(by Whatare the stages of moral development as per Kohlberg? Write down three characteristics
of each stage, Mention any four significance of Kohlberg's Moral Development theory.
HO+H=16
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BENCGALD (L1}
Paper Cocde @ CI5-01

Timie Allovarerd =3 frwerx

Fuell Mearks— 70

The fiypavees i thee sieregidne dnvelieote full wearks.

Candidates are aireciod e give their anowers in dreie owe words
aix forr ax prociicable.

3| st avafr weeliee vrll =6 T e =i 250 com =i Tl e = Toaer
an Temfed @, cma- () | (el aiE el o 1320=20

(=) “awwmreny waditven wufirm one

(=) e o
(%) AMeuss seh=Hm
(%) ‘Tt =" e T
(=) are SEwe
(%) wfEwm 2w
(1) “CeERE g Sl e anen e
(=) =/ (4
(%) coomes fm
(=) sarEs wem on He
(=} CErE
(%) =g
(e) wimEE” qefte =mhirm @
(") AP
(%) fste oy
(B) "EW S IO e A
(") HULTEY AnE
(&) gabmae A
(6) g’ celbsloms cetlE moe
(e) wjaeped GO
(&) =meilEtoe yoansmm

21231

(1) WG T T
(%) 97 7T

(=Y = et
(®) FrETE §E

(=) HEEe A
(%) oot ceiEr

(=) By
(%) @fE

{=1} 5[ 9/
(%) +rf s Ta

(=) e e
(%) =gy sgm

('s0y aflarme Mg
(%) R aoapenems

Flease Turn Over
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(=) ovm =¥m s o ae e

(™} = () SFF
CE) snw (%) =fs
() Newa Gl e s
(=) = (mty o
&) 9 (% B
) B Atsfa e el o=
=) w (=) =
% ® (%) =
(B) = =g e BITATIS1 P ) Wiy
(=) =y =ram (=) Bfere =tam
(%) T wmm (%) Tl wmm,
(&) ﬁnmmmmmﬁm—mm'wm*mmm?
(=) spafeters (=) e
(®) seee (%) Tt
(%) =lwm o= ﬁﬁmﬁ‘*ﬁmmﬁwr
() =fden cam (=) R
(%) =% = (%) s =
(%) oo iz T i wy Flowm o oo
(=) gz 3m (=al} s5fevadon
(%) =fd am (%) comsry fg
(=) fﬁ‘ﬁumﬁamﬁﬂrhjmaqmﬁz
(=) =R oF (W) s
(%) =l (%) mmmrery
(2} STPE 3 a2 e e
(=) =fEwss sihiengm (1) iy b
(%) lrmy o (%) = crm
(4) T8 qafe 2] s w5 TiTaits wfire cus
() =1y camm {=1) =79 s
(2) =ife Bl (B) 1=/ sy
(7} =gferstsy qem
(=) Frm e (=ny 57 Frsm
(%) =fs forga (%) “1fe Frda,
(o) s i el s
(|} %% wgge (=1} %2 Wers <ipra
(%) =7 =ifgm

(%) =%
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(R} "I <fye’ ol ww s

(|) maime () Afmenel A
() wFm =m (%) il e TAW

31 PR s o H’ﬁﬂmﬂﬂﬁﬂ{ﬂﬁmmﬂﬁmzﬂfﬁﬂﬁmm}ﬁmﬁmmﬂm‘lT
2= i}

() TEE A W A

(=) #mw v aeme F oo

(4 TreEm Frea g s EYE

(%) e s Fesrem s Al B A A
(&) En-=3= FF IE T

(%) SUEE YEfE TS I

(%) <A e i gh Hem

() wree o e gih R FeE

(%) AT g A

() =R T o oy fge |

(B) =reeren owfea 5o R T 72+ |
(3) s 75 Frara g6 el B

frsist - o'

ol G CE FET oega T e (2Tl i 2508 =0 s (SPRRIEn SR S WE A1) 2 Tal=14
(%) rper P b s aE Y | o e ol e T it e o R Toey

w5 | T4+ 04=T
¢y = fpeta e ST werae Ewaad Bee o 50 anergfies o gft i fe oy aems

T2 205=T

(o) AR =T 0w A b G5 s s S FHeE Ip5=T

81 7 (sl ol moara Baa Bl (el SOOT =icwm soan) & *1sia) & e Sl o = | lhxl=16

() sfick ewez yenrzera o e el e B | ersnadie g sto aer aRsgeme
st el e e afssemiia i o i g b3+ 34416

() el a1 otvm) coFiE O (G IS S SR O I e s 3 weits Bran
ST = | | 16
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:ASTERN DOOARS ks ka TAAMING JMLLF3E
SAMSHNEYAM, ErATIS: B ALIFURy 2t BAA T LI
LIBRA RY Paper : CPS-03
Time Allawed—3 Hours Full Marks—70

The figures in the margin indicate full marks.

Condidates are directed to give their answers in their own words
ax far as practicable.

1. Fiem 7@ werafom e R ) oom o o o= 3 Ber s Soaem B | SoEE AT

= TeadEE I 1%20=20
(a) 17,26, 37, — FeEIECS *FArE=E Bl ==
(i) 40 (i) 50
(i} 66 {iv) 83
(b) e = cicwga awierss @it 3 150 @9 180 799 =i | @i oom 59 IS o
T
(i) Lst€T 13th {ii} Ttha=t 15th
(i} 10th <7 15th {iv) 15th @4 10th
(c) fogs Toe =l
(i) == = (i) *oem
(iiiy F&=f (iv) Tewe camel
(d) 12 offR o e o= S g we mo )| <8 e wirsma 7R oifis
(i} 5 (i) &
(mi) 7 {iv) 8

(e) 4= T <z S 5,000 5 | Wi = fmmem <35 300 5 100 932 200 =ik
Tl FYIETE = 99 T

(i) 35,000 T a3z 65,000 T (i) 30,000 T @28 6,00,000 Gret
(iii) 30,000 B g=t 65,000 T {iv) 35,000 B @28 60,000 B
(1) Bengm= «femanam s 15
(i) SEE (ii) ==
(i) TR (iv) CoeEap
(g) Fowill wivsra cnerrs O swanefer wrmm e 18| wenef =
(i) =3,-2.5 (i) -1,-3,4
(iii) —2,~4, 6 (iv) -1,-2, 3

14796 Please Turn Over
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(h) Froa e R sfires o 0l 2
(i) BomfEemE (i) *IERETR
(i) P (iv) fege
Q) 120 %1 10 DR Wik o 2 1 0 b e 12 B R o 2 | e
(i) =& 40% (i) #1E 40%
(iii) FrS 44% (iv) =% wE @b 7
() 12, 15 @ 2097t fEstey sjrew off 25 weanfe =
(i) 400 (i) 6400
(iii) 900 (iv) 4900
(k) PQRS #rargirea P ot 1fi 80° =3, o= O el o=
(i) 70° (ii) 100°
(iii) 115° (V) 150

(1) Tl Hrara 29 ¢ Srerest Fafie Gom stem were 3.4 | =F G siet 20% a0 99
AR B8l 10%, TEEm T9-(00 7% SIS SeHs 51

(i) 5:7 (i) 11:16
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(4)
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[Excrisn Version]

: : [ answer in your answer
1. Answer all the following questions. Write the queshion number and corree

1=20=20
book. Do rough work, if necessary, in your answer book.

(a) In the series 17, 26, 37, — the number in the blank should be
(i) 40 (i) 50
(iii) 66 (iv) 83

(b) Teena and Mehebuba got the scores 150 and 180 respectively in a test. The ranks of them
might be respectively

(i) lstand 13th (ii) 7ih and 15th
(iii) 10th and 15th ' (iv) 15th and 10th
{c) Trnangle 1s basically a
(i) rough surface (ii) plane surface
(iti) three lines {iv) three angles

(d) A flexible wire of length 12cm is given the shape of a right angled triangle. The length of
hypotenuse of such triangle in cm is
(i) 5 (ii) 6
(i) 7 (iv) &
(e) The rent of a programme hall is Rs. 5,000. The entertainment cost per guest is Rs. 300,
Total bill 1o be paid by the host for number of guests 100 and 200 are respectively in Rs
(i) 35,000 and 65,000
(iii) 30,000 and 65,000

(i) 30,000 and 6,00,000

(iv) 35,000 and G0,000

(f) UP is greater than WB in terms of
(i) volume (i) diameter

(i) length (iv) aren



(5) D.ELEd.-IiMaihernatics/CPS-03/19

(g) The sum of three numbers is 0. Sum of their cubes is 18, The numbers are

(i) -3,-2.5 (ii) —=1.=3,4
(i) <2,-4,6 (iv) =1,=2,3
(h) For cognitive development of a child, the most important value of mathematics is
(i} utilitarian (i) disciplinary
(iii} recreational {iv) moral

(1) 12 bananas are bought for Rs. 10vand 10 of those bananas are sold for Rs. 12. This result in

(i) loss of 40% (ii} gain of 40%
(iil) gain of 44% (v} no loss or gain
(j} The least perfect square divisible by each of 12, 15 and 20 is
(i) 400 {11} 6400
(ifi} 900 {iv) 4900
(k} In a parallelogram PQRS, if angle P is 80° then angle Qis
(i) 70° {ii} 100°
(i) 115° (iv) 15°

(1) The ratio of the bus fare to the A.C. class train fare from Kolkata ta Digha is 3:4. The train
fare increases by 20% and bus fare by 10%. The new ratio of bus fare to train fare is
(i) 5:7 (i} 11:16
(i) 11:15 (iv) 811
(m) The ratio of volumes of two solid spheres is 8:1.
(i) 1:2

Then the ratio of their surfaces is

(i) 1:4
Gii) 2:1 vy 4:1
(n) In the series of scares 10, 14, 12, 16, 8, 6, 24, 20 if 12 is dropped, median will increase by
(i) 1 (i) 2
(i) 3 fiv) 4

(0) The term “enactive’ was introduced in the stages of learning by

(i) Dienes (ii) Pinget
(1ii) Bruner {iv) Vygotsky

(p) Though irrational, the number can be represented geometrically by an exact length. The
number is

@ V3 i) V7
(iii) /o iv) Vig
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(g) The approximate length in mm of a shaving hlade (having two sharp edges) 15

(i) 20-26 (i) 30-36
(i) 40-46 (iv) 50-56
(1} You are given a serics of numbers 18, 24, 48, 57, 60, 66, 78. They are
{i) odd numbcers, (i) even numbers.,
(i) divisible by 3. (iv) divisible by 6.
(5) Diagnostic test is almost similar to
(i} formative evaluation. (i) summative evaluation.
(111) umnit test. {iv) attitude test.

(t) The most reliable measure of variability of scores is
(i) Range (i) QD
(iii) AD (iv) SD

2. Answer any ren of the following questions (each within 25 words):

2x10=20

(a) Mention four pertinent characteristics of constructivist approaches in teaching mathematics.

(b} Show that mathematical language is universal.

{c) Why is a fish seller so efficient in calculation in his/her profession?

(d) Simplify: 16{3—{5—2[2—1+I}}1

(e) Write two items in mathematics using Psychomotor domain,

(f) Show that squaring a number does not always yield larger value,

(g) Find the area of the segment of a cirele (of radius r) making 30° at the centre.

(h) Use your dot pen as TLM at least in four situations in teaching mathematics.

(i) The mean age of 12 students of elass TV is 10 years. When a madam of age 30 years is

included, find the changed mean.
(1) Write 4 competencies developed due to mathematics learning.

(k) Give the concept of 0 (zero) 1o your students using a number of flowers.

(I} Write 2 causes of development of misconceptions in mathematics among the children,

3. Answer any two of the following questions (cach within 250 words):

Tx2=14

(2) Whatis the difference between proper and improper fractions? Give examples. How would

you approach 1o teuch the fraction 3/5 und 5/3 1o you students?

l4+1+5=T7
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(b) Listatleast 7 concepts of mathematics and suggest corresponding TLM that can be collected

from immediate environment, for teaching those concepts, =

() With the help of a suburban Railway time table show how you can teach—difference of

time, distance, speed and fundamental operations of mathematics, to your students.
I+ 1+1+4=7

4. Answer any one of the following questions (within 500 words): 16x1=16

(a) Discuss with examples the theories of Bruner and Fiaget in teaching Mathematics at Primary
level. B+8=16

(b) What are the general weaknesses of students in addition and multiplication processes?

Construct a diagnostic test {containing at least 10=5+5 items) to identify these wedknesses.
6+10=16
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[ExcLisn VERSION]

L : 1x20=20
1. Select corect answer from the following questions and write in the answer book:

{a) Amest Jones has divided the life span developmentat

(i) 3 stages {ii) 4 stages
{1ii) 5 stages (iv) G stages
) Leo Vypotsky supports .
(i) Cognitive construclivism {ii}) Social constructivism
(11} Active constructivism (iv) Mone of these

{c) Entire motor development of a child starns

(i) Birth to 3 years of age (i) 3 to 6 years of age
(1ii} 6109 years of age {iv) 9o 15 years of age

(d) “Play encourages the enterprising attitude of a child™ stated by

(i) Freud {ii) Erikson

{iii) Watson {iv) Mone of these
(=) is not related o intelleciusl development.

(i) Thinking

(ii) Memorising
(iii) Morality development (v} Perception

i one of the principles of development,
(i) Development is straight

(iii} Development is straight and linear

(n

{ii) Development is not straight

(iv) Development is nop straight but spiral
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(g} Which is not a principle of development?

(h}

{1)

(i) Development is the effect of interaction between heridity and environment
(i) Development is innate

(it} Development is predictable
(iv) Development is physical as well as psychological process

Fine muscle development is required at

(i} Holding things (ii) Holding thread at needle
(iii) Drawing (iv) All of these
The child is found to be self centered up to years of age.
{i) about 3 years of age (ii) about 4 years
(iti} about 8 years (iv) no particular age
(j) Socialization is
(1) aleaming process {ii) a spontanecus process
(iii) a quantitative process {iv) None of these

(k)

is required to remove fear from the child.
(1) Keeping away from source of fear (11) Punishing the child
(iii) Taking help of Operent Conditioning  (iv) Increasing sense of security among child

(1} Source of love and affection among children is

(m} Functioning memory is called

(i} family (i} school
(i1} family and school {iv} None of these

(i} Sensory memory (i1} Short term memory
(iti} Long term memory {iv} None of these
(n) Behaviorists analyzed human behaviour as
{1} stimulus and response (i) stimulus — organism — response
(iii) sensation — reaction (iv] None of these

(o)

(p)

Intelligence is emphasized in which theory of leaming?

(i) Tral and Error theory {it) Operant Conditioning
(iii) Classical Conditioning fiv) Insight Theory
According to Vygotsky, tools in Constructivism are meant

(i) language (i) muthematical techniques
(iii) premonus (iv) All of these
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{q) Inclusive education is first found at
(i) Brtain (1) America
{111} Prance {iv) German

(rd Scofolding refers o

(i) prompting the leamers in problem solving
(ti) reminding
(iii) dividing the solutions in small parts
{iv) All of the above
{s) Classical conditioning theory of leaming is
(i) habimal (ii) mechanical
{iii) complicated (iv} positive

{1} Aninstance for constructive play 1s .

(i) drawing picture (it} playing with dolls
(iii) making earthen blocks (iv) playing hide and sick
2. Answer any fen questions (in about 25 words each): 2x10=20

(a) 'Write down two characteristics of Constructivism.
{b) What is meant by ‘Solitary Play"?

() What is the social significance of play?

(d) What is meant by ZPD?

{e) What is “Involuntary Attention'?

{f) What is deconditioning?

(g) According to Thomdike, mention the application of “Law of Effect’.
(h) How is fear developed among children?

(1) What is meant by ‘self concept'?

{j) Write one significance of "selfl efficacy’.

(k} What is meant by ‘super ega'?

(I} Write down two characteristics of socialization process.

3. Answer any twe questions (within 250 words each): Ix3=14

(a) Discuss briefly the stages of moral development as proposed by Kohlberg?
(b) Describe the components of sociallzation process among children,

{c) Mention any five principles of development,
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4. Answer any one question (in about 500 words): 16x1=16
(a) Define play. Discuss the connection of play with social and emotional development of child.

(b} Describe with educational significance the “Trial and Error® theory of learning.
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Read the passage given below and answer the following questions:

In July 1917, in the village of Cottingley, England ten-year old Frances Ciriffiths slipped and fell
into a stream in her back garden, soaking her dress. When her mather scolded her for being careless,
Frances said that she and her cousin, sixteen-year-old Elsie Wright, had become distracted while
playing with fairies. Frances’ mother sent her straight to her bedroom for giving such a ludicrous
excuse. Frances was so upset that Elsie suggested they take a photograph of the fairies to prove her
story. The girls soon persuaded Elsie’s father. Arthur Wright, to lend them his camera and they

disappeared off into the garden to take a photograph.

Later, Arthur developed the phetograph in his darkroom and
group of tiny winged creatures dancing around her, Elsie claimed
took little notice, A few months later, the girls borrowed the camera again
photograph of Elsie with a dancing gnome-like creature, The girls both gave their word that the
photographs were real, but Arthur was angry and refused to let them use the camera again.

Elsiz's mother brought the photographs to the attention of & photographic
unced that they were genuine. He was certain they had not been

the fairy images. In August 1920, he took his own camera o

Cottingley and asked the girls 10 take more photographs. They soon produced three more images
5. Gardner showed these to a number of people, including the author of the Sherlock
4 firm believer in supermnatural beings, was convinced
articles about his belief in the fairies, and the
but also o wealth of believers. The

saw & picriure of Frances with 4
these were fairies, but her father
and this time took a

A few years later,
expert, Edward Gardnef, He anno
ampered with in any way to create

containing fairie
Holmes mysteries, Arthur Conan Doyle. Doyle,
the photographs were real, He wrote Iwo magazine
photographs soon become famous. There were many sceplics,

photographs became the topic of numerous heated debates.

For more than 60 yed
gave evasive answers o any direct quest

rs. Frances and Elsie were interviewed about the photographs, but they
ion. However, in the early 19803, they finally confessed 1o

their hoax. The fairies were paper cut-oul which, Elsie had truced from a children’s book. The girls
had then used hatpins 1o hold ench cul-oul in position. However, Frances insisted until her death in
1983 that she really had played with fuiries in her back garden, and that one of the photographs was

valid.
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A. Tick the correct allemative:

(1) Hoax means

{a} Trick (b} Book {e) Toy
(11} Insisted means

{a) Lied

(b} Whispered

{c) Repeated firmly

(d} Said loudly
(iii) Genuine means

(2) RealTrue

(b} True believer in some ideology

(c) Persuade someone

{d} Participate in something
(iv) Distracted means

(a) Give full attention

(b} Beautiful

{c) Angry with someone

{(d) Unable to give one's full atiention
v) Scolded means

{d) Sumnlﬁing difficult

(a} To speak angrily to someone, who has done some wrong

(b} Whisper 1w somcone close
(c) Hit someone
{d) Nag
ivi) Persuaded means
{a) Confide in someons
(k) Make somebody believe in something
ic) Distract someone
(d) Be ashamed of someone

{vii) Evasive means

(a) Loud (b) Nice (c) Indirect
(viii) Tampered means
(a) Squeered
(by Deliberately changed
(c) Ignored

{d) Dishonest

(d) Honest

=i
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(ix) Valid means

(n) Based on what is jogi
5 logical or true; acceptabl
(b) Not rustworthy e

(e} True to one's own self
(d) Trust someone

(x} Belief means

(a) Something you accepl as true
(b} Trust someone

{c} Accept somecone as they are
(d) Dogma

B. Answer any five of the following questions each within 25 words: 2x5=10
'[.Ilj Whﬁl di'd anﬂﬂﬁ i.l:l'ld E:I,Siﬂ 5_3}' abnul th: Dthﬂgl’ﬂphs |ﬁt=1’?
(ii) What did Edward Gardner do later?

(iii) What according to Frances Griffths was the reason for slipping into the stream?
(iv) What did Arthur do when the photographs were shown to him?

(v) What did Elsie's mother do with the photographs?

{vi} What did Elsie say for pacifying France’s anger?

2, Fill in the blanks: 1x10=10

(i) ESL stands for
(i} CALL stands for

(iii) English is a based language and is also a ____language for national and
international communication.

(v) TLM stands for

(¥) Second language teaching emphasizes on the development of : .
and skills,

{vi) CLT gtands for

» Anser any five of the following questions each within 25 words: Ix5=10

: 3

(I} What is the role of chart in languags clussronms -
. _ :
(i) w hat is Grammar Translation Method?

srooms?
Gii) Whay i LM in language CIASSTE
s hat is the role of T o (rauma-free homely environment for teaching English
OW can one create 4 CIIE 1

in elassroom?
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(v What skills are developed in second language classrooms?

(vi) What is the difference between first language and second language?

4. Answer aey fwo of the following questions each within 250 words: Twd=14
(i) Discuss any two strategies for developing writing skills,
(ii} Discuss the constructivist approach to teaching English at the elementary level.
(iii} Discuss the aims and objectives of teaching English in the elementary level in West Bengal,
as per the Kothari Commission.

3. Answer any one of the following questions within 500 words: lhxl=16

(i) Prepare an achievement test (of 20 marks) on any topic of your choice (from the syllabus of
Class VI-VIII).

(it} Prepare a lesson plan for any poem (o be taught in Class V,
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Two-Year D.ELEA. Pari-1 Examination : 2018-2020

SASTERNDOOARS ke TREINMG JOLLRGE
UBKSHINATAN, BnATiBaf ALTPUTMiaE ENVIRONMENTAL SCIENCE
LlBR &R‘f Paper : CPS-04
Time Allowed—3 Hours Full Marks—70

The figures in the margin indicate full marks.

Candidates are directed ro give their answers in their own wiards
as fur as practicable.

1. Sz ¥ ol oo A Beal Fefe w Tenena fm o 12020

{a) NCTE-2% #=1 wra =

(i) MNational Curriculum of Teacher Education

{ii} Mational Confederation of Teaching and
(1) National Council for Teacher Education

Education

(iv} National Curriculum for Teaching and Education

(b) = wafEs e u=
(i) C=9
(i) BTarEgEEm
() "TE-ToT] *TE Farurs (A e
(i) =iefr fmem
(i) O
(d) =d Rz =
(i) el i
(iit) =T Ry
{e) ==El% =
(i) FeraTiimeE S
(iii) R ST
(1) *Basic Education’ ¥ Frovemm, R omm
(i) A I
(i) e
(g) =49 TamEnse Tesfa
(i) “TTATRE A
(ili) TR T

14797

(ii) TEwFEns
(iv) Egrene

(ii) et frm
{iv) EEErED

(i) T s
(ivy =asrafEt Fmfas

(i) AresErm =
(iv) CETATHR ==

(i) = =afas
{iv) T

(i) FETarsa o
(iv) TEUcT T
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(h) s wAGE ] T A
(i) s
(iii) BrafEm
(i) LTM-93 < e 2=
(i} Leamer's Teaching Materials
(iii) Learning-Teaching Material
(j) Fen - Tgef dw BT
(i) e «Arwsi
(iii) FIRS FH=H T
(k) SETEA SFWA FFGHA AN
(i) o T
(iii) ==EEEE T
(1) CCE-~ga sitan w1 o9

(i) Complete Curricular Evaluation

(ii) AR
(iv) EfgfEm

(ii) Learner-Teacher Medium
(iv) Leamning-Teaching Method

(ii) FHAE FEET IarEIAITE
(iv) QLA FCF

(i) e
(iv) T TEgh

(i1} Continuous and Complete Education
{iii) Continuous and Comprchensive Evalnation
(iv) Complete and Comprehensive Education

(m) @@ wgfean Ry aem
(i) stifws!
(iii} =& FErrw

(i) == feEE
(iv) FRsEE A

(n) “gae Famrarsfn =i s Beige «mfe 2=

(i) S *wiE
(iii) T 5k
(o) F=m=mihe e
(i) = «mieg Tuas
(iii) =% «mfen By
(p) whes wrames «afl Hum a5 ==
(i) e
Giii) =1
(q) =l orn am
(i) *rferghme
(i) FETERTE

(i) #frrse «=fe
(iv) FU-Ra e

(i) " feiey Turs
(iv) *ffret srsfen Turs

(il) =Hieg
{iv) ot

(ii) sFEhnes
(iv) 1% wuwrm
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(r) ST % A siferad) 2 2o

(i) Sherm
(iii) *fmm
(s) mmﬁmqﬁ@
(i) =
(iid) e
(t) SRS Hirg "fﬁﬁh T
(i) T«
(iii) == 4

(i) =i
(iv) =rpsfoers

(ii) =y
(iv) S

(i) @z a4
(iv) == wfy
2, ﬁﬁﬁﬁﬁiﬁﬂﬂﬁﬂﬂtﬂﬁﬁﬁﬂﬁﬂtﬁhﬁmﬁamwmﬁ:
(a) 9t *5E e 2
(b) TETETra o6 e Ty =
(c) =T 4 Toasy frgw |
(d) e &y
(&) A= W a5 =i P Srewse
(F) “Swsters cwg’ wullog =d H
(g) Pravefars fret wevce § wme
(h) =nEEa =fen 1= 9w Jte
(i) 7% Frsngers rawiem v @)
() Srpprer A B 0 o e
(k) Forspep-femeeet 6. @7 anteimers wrawr &t
(1) e A ZEETel

2x10=20

3. Tt wwmafm s or @ 5T soim Ten wwite 2507 «em T fm
(a) =g «ufe i 9@ 9 Jwies Ry e =fEye @ e ==

Tx2=14

I+d=T7
(b) Fovme) apen e v 07 T e Toers w |

(c) =« e com fargm Bem Fsasia e Bwme

2+5=7

3d=7
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fi 8 xl=]g
4. Wl smofm m o mem 00T mwﬁwﬁmﬁ oo 0 ;
il i |
(a) SRR siicha = g eI T T
ot e |
(b) SRR simelmm Snfea wy A AT kg
[Exguasn VERsION]
w . ht answer in each case:
1. Answer the following questions on the answer paper by selecling i 1=20=20

{a) The full name of NCTE 15
(i) Mational Curriculum of Teacher Education
(i) National Confederation of Teaching and Education
(iii) Mational Council for Teacher Education
(iv) National Curriculum for Teaching and Education

(b) A water-bome disease 15

(i} Dengue (i) Typhoid
(iii) Tuberculosis {iv) Influenza
(c) Story-telling method is best suited for
(i) Primary Education (ii) Secondary Education
(iii) Higher Secondary Education (iv) Higher Education
(d) Swami Vivekananda was
(i) Maturalistic Educationist (ii) Realistic Educationist |
(iii} Idealistic Educationist {iv) Pragmatic Educationist |

(e) Alchiki is the language of

(i} Rajbanshis (ii) Samalis
(iii) Zaroas {iv) Horos
(f) *Basic Education’ is the educational thought of
(i) Rabindranath Tagore {ii) Sri Aurobindo
(1ii) Gandhiji (iv) Montessori
(g) Carbon monoxide is produced due 1o
(i) Air pollution (i) Land pollution
e (iii) Sound pollution (1v) Water pollution
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(h} Acharya Jagadish Chandra Bose was n
(i) Physicist (ii) Chemist

(iii) Zoologist (iv) Batanist

(1) Full name of LTM is

(i} Leamer's Teaching Materials (ii) Learner-Teacher Medium
(iif} Leaming-Teaching Material (i) Learning-Teaching Method
() Audio-visual materials of the school should be kept in the
(i} Physics Laboratory (i) Chemistry Laboratory
(1ii) General Resource Room {iv) Geography Room
(k) Name of India's only desert is
(i) Thar desert (ii) Sahara desert
(iii) Apatolian desert (iv) Kalahan desen

(1) The full form of CCE is
(1) Complete Curricular Evaluation
(ii) Continuous and Complete Education
(111} Continuous and Comprehensive Evaluation
{(iv} Complete and Comprehensive Education

{m) One Nateralistic educationist is

(i) Gandhiji (ii) John Dewey
(iii) Swami Vivekananda (iv) Rabindranath Tagore
(n) The best method of teaching-leaming of the topic ‘Pollution” is
(i) Discussion method {11} Observation method
{i11) Lecture method (iv} Problem-solving method
(o) Kilpatrik was the inventor of
(i) Discovery method (ii) Story-telling method
(iii) Project method {ivd Experimentation method

(p) A main river of South India is

(i) Indus (1) Brahmaputra
(iii) Canga (iv) Godavarn

(g} Sand dunes are found in
(i) Mountainous region (i) Desert region
(iii) Plateau region (iv) Hilly region
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{r} The neighbouring country immediately on the south of India is

{i) Sri Lanka (i) Nepal
{111) Pakistan (iv) Afghanistan
(5) The type of pollution produced by fossil fuel is
{1} Land pollution {it) Air pollution
(ifi) Sound pollution (iv) Water pollution

{1) India has world"s largest
(i) Coal mine (ii) Iron-ore mine
{(iii) Diamond mine {iv) Mica mine

2. Answer any fen from the following (within 25 words each): 2:x10=20

{a) What is Experimentation Method?

{b) Menton two causes of water pollution.

(e} Write two objectives of Environmental Science.
{d) What is Lesson plan?

{#) Which rwo months form winter in Bengal?

{f) Whar is meant by ‘Psychomotor domain®?

{g) What is Child-centric Education?

{h} What is the main extract of Discussion Method?
(i) Give an introduction of two learing achievements.
(i} What can be the result of Air pollution?

(k) What is the contribution of D.W. Allen in Teacher-Education?
{1) What is the need of halanced food?

3. Answer any two from the following (within 250 words each): Tx2=14

(a) What is Discovery method? Discuss the advantages and disadvantages of this method,
J44=T7

(b) What is Land pollution? Mention a few causes of this pollution, 24-5=7

(c) On which subjects does Envirommental Science depend? Give examples, J+d=T
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16=1=16
4. Answer any one from the fﬂ"“"""'"-s within 500 wards:

(a) Discuss the use of local resources for learning Environmental Science.
(b) Explain the role of A¢



